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Question Number : 1 Question Id : 7715134216 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HH GE & YR W G DRU YAF YR @C q¥ TR L’ © B¢ & qeionu df
......... N fo mn § (E = verd YRy @1 9 Hiie)
Elongation of a bar of uniform cross section ‘A’ and length ‘L, due to its own weight ‘W’ is
given by.......... (E=Young’s modulus of elasticity of material)

a) 2WL/AE b) WL/AE c) WL2AE d) WL/3AE

Options :
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134216 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IH W & YR W S IRU TH AR B qU el L @ B & aEigRu Bl
......... &R ol 1§ (E = ven-Yrsd @1 9 Aie)
Elongation of a bar of uniform cross section ‘A’ and length ‘L’ due to its own weight ‘W’ is
given by.......... (E=Young’s modulus of elasticity of material)

a) 2WL/AE b) WL/AE ¢) WL2AE d) WL/3AE

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134217 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fr ww ooff 39 R § & sl o Suler § aam 21 e T R F, el e
SN & 80 ¥ W @ R I8/ o &l 39 R | w5 feia
o 8 & 0.1 &1 OF L mm $ s U7 ¥ TWid 81 59
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Figure shows a rotating cam that causes a follower to move vertically. For
the position shown, the follower is being moved upward with a force of
5N. For this position it has been determined that a rotation of 0.1 radian

corresponds to a follower motion of 1 mm. What is the average torque
required to turn the camshaft during this interval?

a) SNm b) INm ¢) 0.INm d) 0.05Nm

Options :
1.a
2.b
3.cC
4.d

Question Number : 2 Question Id : 7715134217 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fm w ooff &w R & & T @ SEier § 99 g s i F, ot @
SN & &0 ¥ W $I 3R I/ o 31 39 Ry F 95 PeiRa
o 8 & 0.1 8% &1 O | mm 1 s i ¥ GefE 21 39
R & GRA PRI B TH & U awad e aa omgel faa
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Figure shows a rotating cam that causes a follower to move vertically. For
the position shown, the follower is being moved upward with a force of
5N. For this position it has been determined that a rotation of 0.1 radian

corresponds to a follower motion of | mm. What is the average torque
required to turn the camshaft during this interval?

a) SNm b) INm ¢) 0.INm d) 0.05Nm

Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715134218 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



S R A, T — V23 B @ SR o

Wn
w
In vibration isolation if —  is less than V2 then the transmissibility will be
Wn
a) b Y &H/less than one b) T 67 §H1/Equal to one
¢) UF ¥ WIGlGreater than one d) T4/Zero
Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134218 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W
o ffam §, ot —, V23 o9 & o doiaar ...l gt
Wn
w
In vibration isolation if — s less than V2 then the transmissibility will be
Wn
a) TP U H/less than one b) W@ & §HI/Equal to one
¢c) b U WIEl/Greater than one d) T[4/Zero
Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134219 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

O TR G H UE o] § 414 MPa @1 UMY § QU1 TG SFEU TR AP 0.2%
g Te & T $1 A b 8

A metal has a strength of 414 MPa at its elastic limit and the corresponding elastic strain is
0.2%. What is the modulus of resilience of the material?

a) 207 KJ/m? b) 414 KJ/m’ ¢) 828 KJ/m? d) 20.7KJ/im?

Options :
1.a



2.b
3.¢C
4.d

Question Number : 4 Question Id : 7715134219 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SO YR i H U@ o H 414 MPa @1 UHYl § 9uT 390 oFfRU WORY fapld 0.2%
gl T & Tl @1 " e @

A metal has a strength of 414 MPa at its elastic limit and the corresponding elastic strain is
0.2%. What is the modulus of resilience of the material?

a) 207 KJ/m? b) 414 KI/m? ¢) 828 KJ/m? d) 20.7KJm?

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134220 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R & &g Bad &l ol Siake Bam § WKl 96 dedl AFl H e Ulded ... 8

The shearing stress in a heavy close coiled spring, in the inner face as compared to outer face
of the wire is

a) dallarger

Esﬁ'c’[smaller
HHH/equal
GRIE| qm?ﬁ & W $ AYR R 31 71 Blel

larger or smaller depending on diameter of spring coil

)
)
)
)

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134220 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TR & 91 ok @ qo JHidke bad H 4RI 96 $odl GAA H HUEU Hided .. ... 7

The shearing stress in a heavy close coiled spring, in the inner face as compared to outer face
of the wire is

a) dallarger

Eﬁ'ﬂsmaller
HHH/equal
M gﬁ?ﬁ & ¥ & AR W 31 T Blel

larger or smaller depending on diameter of spring coil

)
)
)
)

Options:
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134221 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol Y g 1 G N 2 i o e 2 B o P Tl ) e
# oA U vl fw i g, aﬁuﬁmﬁ%@mzﬂﬂﬁmg‘ﬁﬁﬁ, ol ®H R
& IfF TR § @ o g1 39 fRew @ fguw L G

The deflection of a spring having “N™ active turns under a load of “P” is “6™. If, the spring is

: , s N - .
replaced with “n” number of springs each having = number of active coils which are placed

in parallel under the same load. The deflection of this system would be

a)— b) né c) 0 d)—

n n2

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134221 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



ol Y g 1 G N 2 i o e 2 B o P Tl ) e
# oA U vl fw i g, Gﬁimﬁ%ﬂwfﬂﬂwwiﬁ‘, ol ®H R
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The deflection of a spring having “N™ active turns under a load of “P” is “6™. If, the spring is
: , s N - .
replaced with “n” number of springs each having = number of active coils which are placed

in parallel under the same load. The deflection of this system would be

a)— b) né c) 0 d)—

n nZ

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134222 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

“d” T & 31 Y R B & G8 Bl HAABR &5 H Wiild G 9 81 SdeR
T8 D 9l b7 § TUT 3P Mo aud U P 45 & oW & A 8l IR @ <8 H
YOH e AU® 8 &, O HUMER G5 P diel “b” 393 Tl ¥ ........ T

A beam of solid circular cross section of diameter “d” is to be replaced by a rectangular beam.

The width of the rectangular beam is “b” and depth is equal to diameter of the circular cross
section beam. If the two beams are to have same section modulus, then the width “b” of the
rectangular beam is times its depth “d”.

a)n/l6 b) 3n/16 ¢) Su/16 d) 7n/16

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134222 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



“d” Y & 3 Y IR P & 58 Bl HAAHR &5 H Wiild G 9 81 SdmR
@2 @l JIeRk “b" 3 TUT 3! W adid R P §8 & oW & 99 8l UG o 48 §
A BIC AiD FF , d AUCIOR €5 @I dIe “b” IuD! TeWs U ........ T B
A beam of solid circular cross section of diameter “d” is to be replaced by a rectangular beam.
The width of the rectangular beam is “b” and depth is equal to diameter of the circular cross
section beam. If the two beams are to have same section modulus, then the width “b” of the
rectangular beam is times its depth “d”.

a)m/l6 b) 3n/16 ¢) Su/16 d) 7n/16

Options :
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715134223 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ofg P =Tt sufeT 85 W dUfT g, Z=95d H FRUy WA o N=vHd @ T §
GG U LU G A ARG

If P = bearing pressure on projected bearing area, Z = absolute viscosity of lubricant, and
N = speed of journal, then the bearing characteristic number is given by

a) ZN/P b) PIZN ¢) Z/PN d) ZP/N

Options:
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134223 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ofe p=Teftd sufeT 85 W dufeT ¢, Z=%5d H fRUy WA o N=5Ha @ T &
a sufer sfiqefie dem ... ARG

If P = bearing pressure on projected bearing area, Z = absolute viscosity of lubricant, and
N = speed of journal, then the bearing characteristic number is given by

a) ZN/P b) P/ZN ¢) Z/PN d) ZPN



Options :
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134224 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

d; Wd, W & o o9 Tiad! & 99 F & Y W U caM Wl o ol G ‘e’ T 9
& 3t O 8, @ Mol & dF & e eice uoed o L........ gwI e o 3

Two solid spheres of diameters d; and d, are pressed together by a force F and if ‘a’ is the

radius of the circular contact area, then the maximum contact stress between the spheres is
BIVEIDY s

a) F/((n/4)x(2a%))
b) F/(2ma?)
¢) 3F/(2na?)

d) F/((2ax (nv4dix n/dds?))

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134224 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



d; Wd, 9 & o o9 Tiad! &1 90 F & 9 U Y caMl Wl 5 ol TG ‘e’ T 9
& 3 O g, @ e & i & e Fle ed B ......... gwI e o 3

Two solid spheres of diameters d; and d; are pressed together by a force F and if ‘a’ is the
radivs of the circular contact area, then the maximum contact stress between the spheres is
givenby .........

a) F/((n/4)x(2a%)
b) F/(2mal)
¢) 3F/(2na?)

d) F/((2ax(n/4d?x m/4d?))

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134225 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HHd o & Jd 9eh . ........ g

Basic constituents of Monel metalare .........

a) (idd, didlnickel, copper

b) Fdbd, HifeeH/nickel, molybdenum
c) foid, fed, WS/zinc, tin, lead

d) Had, s ud f&nickel, lead and tin

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134225 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T 91 & Jd 9P . ........ B

Basic constituents of Monel metalare .........

a) Fdd, didlnickel, copper

b) Fdbd, Hifees-H/nickel, molybdenum
c) i@, &4, TS/zinc, tin, lead

d) Fdbd, o Ud f&nickel, lead and tin

Options:
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134226 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U & FUffed weal § ¥ oH- 999 §g Ud 9 HAved 87

Which of the following constituents of steels is softest and least strong?

a) 3HIEe/austenite
b) Udise/pearlite

c) ﬂ?‘(f’{"c’:"ferrite

d) fiFeBe/cementite

Options :
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134226 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T & FEfafed gedl § 4 BH-U Y4 g5 U4 HF Jvgd 82

Which of the following constituents of steels is softest and least strong?

a) &ﬁ{%ﬂEE.-"au stenite
b) Udize/pearlite

¢) Unige/ferrite

d) fiAeBe/cementite

Options :
1.a



2.b
3.¢C
4.d

Question Number : 12 Question Id : 7715134227 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HOURT & TR GO H TWY @1 W qU §9F ®©0 ¥ 4 ¥ W 91 adl o
............ BEd ¢

The loss of strength in compression with simultaneous gain in strength in tension due to
overloading is knownas ............

a) flod UW/Ficks effect

b) Ity UMIG/Griffith effect

¢) @ {I M@ Frank Read effect
d) R yHE/Bauschinger effect

Options :
1.a
2.b
3.C
4.d

Question Number : 12 Question Id : 7715134227 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AOURT & FRU Yhed ¥ Uy @1 g9 qU §9F ®U ¥ ¢4 ¥ W 91 asl @
............ Ted ¢

The loss of strength in compression with simultaneous gain in strength in tension due to
overloading is knownas ............

a) T UMd/Ficks effect

b) Tty UMIE/Griffith effect

¢) B@ I3 UMId/Frank Read effect
d) IR §yE/Bauschinger effect
Options :

1.a

2.b

3.c

4.d

Question Number : 13 Question Id : 7715134228 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
W%@@ﬁ@ﬂ@@@ﬁ%@@ﬂ@ﬁﬁ%ﬁﬁﬂsm

The theoretical effective length ratio for calculating the buckling factor of a column with one
end fixed and the other end pinned is

a) 0.5 b) 0.707 ¢) 1 d) 2

Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134228 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol & 1@ fR 31 R o oW R 3l i W 0 g o @1 whe o & Ry

The theoretical effective length ratio for calculating the buckling factor of a column with one
end fixed and the other end pinned is

a) 0.5 b) 0.707 c) 1 d)

(]

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134229 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefofed 7 ¢ oR-3 feufify Tk ¥0 ¥ w@ wde B9-v@ M I o 8

Which of the following mechanisms produce mathematically an exact straight-line motion?

a)ac @I iR Roberts Mechanism

b) g foharfafd/ Watt mechanism

¢) UIferR fohaTfafell Peaucellier's mechanism

d) <412 weel bl Chebyshev lambda mechanism



Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715134229 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefifed 7 0 o4 fpuiely 1k ®U ¥ 1@ wde Y@ M IO F 8

Which of the following mechanisms produce mathematically an exact straight-line motion?

a)Uge @ foharfafi/Roberts Mechanism

b) & fehafafe/Watt mechanism

¢) U fopunfafdl/ Peaucellier's mechanism

d) d4i2 dagr fobafafdl Chebyshev lambda mechanism

Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134230 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 U Wik U7 siael @i 2ny/sec? BT TIAR kU YSH &Rl 3, ol U BF & 3R-UR

it var 7 @t g1 e U4 olae b1 R 0.5 .. €1 Wik & 4R 5 B §1 96

R B A R A e e R A A T e g v s e o o R

T Y OIS @ 8

A pen plotter imparts a constant acceleration of 2 m/sec? to the pen assembly, which travels in

a straight line across the paper. The moving pen assembly weighs 0.5 kg. The plotter weighs

5kg. What minimum coefficient of friction is needed between the plotter feet and the table top

on which it sits to prevent the plotter from moving when the pen accelerates?

a) 0.010 b) 0.015 ¢) 0.020 d) 0.025

Options:
1.a
2.b
3.¢
4.d



Question Number : 15 Question Id : 7715134230 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 U9 @Y U aael &1 2m/sec? & TFIAR @RV WGH oXdl 8, of b &FW & AR-UR

il v 7 St g1 o U4 olae @1 HR 0.5 bW, §1 Wik &1 MR 5 b Bl 96

T & @0 B & A W @ e Y e & R @Y U W 29a o & dY s

AT U UiE R

A pen plotter imparts a constant acceleration of 2 m/sec’ to the pen assembly, which travels in

a straight line across the paper. The moving pen assembly weighs 0.5 kg. The plotter weighs

Skg. What minimum coefficient of friction is needed between the plotter feet and the table top

on which it sits to prevent the plotter from moving when the pen accelerates?

a) 0.010 b) 0.015 ¢) 0.020 d) 0.025

Options :
1.a
2.b
3.cC
4.d

Question Number : 16 Question Id : 7715134231 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

% §3 We @I 400 MPa & WY o Wded & o T oiar 31 We # P @R 3 ol

L6l dd g1 @R & 3 W Wided dad 9@ ........... MPam§ (WG dd

1)

A large plate is subjected to a nominal tensile stress of 400 MPa. The plate has a central crack

that is 1.6 mm long. The stress intensity factor at the tip of the crack is ... MPa Vi (geometry

factoris 1)

a) 10 b) 20 ¢) 30 d) 40

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134231 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T 3 ©ic I 400 MPa & THIT & Woed & 3 Ol S 31 We # hE @R § &
L6Ta. /. dar 31 @R & 3 R foww e 7@ ........... MPa \m§ (WY
L8

A large plate is subjected to a nominal tensile stress of 400 MPa. The plate has a central crack

that is 1.6 mm long. The stress intensity factor at the tip of the crack is ... MPa Vm (geometry
factoris 1)

a) 10 b) 20 ¢) 30 d) 40

Options :
1.a
2.b
3.¢
4.d

Question Number : 17 Question Id : 7715134232 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gle UR9YT &1 SFHgE R W', X’ 9UU gdf, ‘H’ ®oRd W ‘v’ A §, d HNed

UREU & iU mis §Hew @l ..., & ®0 F forEn o 99 8

If ‘W’ is the applied load, ‘x’ the sliding distance, ‘H’ the hardness and ‘v’ the volume of wear,
then Archard’s equation for adhesive wear can be writtenas ...........

a) vz% b)vzk% c]vzk—p? d)vz%
Options :

1.a

2.b

3.c

4.d

Question Number : 17 Question Id : 7715134232 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fe URYT F1 WY HR W', X' UU &, ‘H ®oRd W ‘v’ HAdH &, d A
URYYT & T Hbls THaR0 & ........... @ ®7 7 fore o 98 §

If “W” is the applied load, *x’ the sliding distance, ‘H’ the hardness and ‘v’ the volume of wear,
then Archard’s equation for adhesive wear can be writtenas ...........

a) v:% b)v=k$ m;x %



Options :
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134233 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FCC gfe Ud &1 WRAMas Tpad UHS ....... ®

The atomic packing fraction of an FCC unit cellis .......
a) 0.12 b) 0.24 Ey:52 d) 0.74

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134233 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FCC e Ud & WRAMUas Gpa-d U9 ....... g

The atomic packing fraction of an FCC unitcellis .......
a) 0.12 b) 0.24 ¢)0.52 d) 0.74

Options :
1.a
2.b
3.C
4.d



Question Number : 19 Question Id : 7715134234 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yifoed N fabrg & fou iRy Fam &t .......... o fordl o U5dl B (el widad digal
o ¥ AKE, N T @ Yo, a @R APR qW A T n T [ e ©)
Paris law for fatigue crack growth can be written as............... (where AK is the stress
intensity factor range, N is the number of cycles, a is the crack size and A & n are material
dependent parameters)
da _ ppan da _ n
a) - = AKA b) —-= A(AK)
0 % - 4k 8 % = AR(A)
dN dN
Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134234 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

sifcred N faorg & fou Wy Fam ot .......... o feral o1 9ddl & (Wl wlded diaal
& F AK R, N TpI B GO, a &R AGR WA W n W& 3fd IR 7)
Paris law for fatigue crack growth can be written as............... (where AK is the stress
intensity factor range, N is the number of cycles, a is the crack size and A & n are material
dependent parameters)

da _ apan da _ n
a) o= AKA b) 2= A(AK)
0 % ARy &) % = AR (AN

dN dN

Options :



1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134235 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
Wic-Tea el & ... . ..., e §

The Scott-Russell mechanism consistsof ...........

a) OO Ud dd9 gW/sliding and turning pairs
b) YU Ud ¥ gW/sliding and screw pairs
¢) °E quif gW/rotary pairs only

d) ®E 9Uur gWsliding pairs only

Options :
1.a
2.b

3.¢C
4.d

Question Number : 20 Question Id : 7715134235 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Whle-3q fpafafa o ... ... .. AT &

The Scott-Russell mechanism consistsof . ..........

a) WU Ud 9d9 gW/sliding and turning pairs
b) ¥UU Ud ¥ gW/sliding and screw pairs
¢) OE quil gW/rotary pairs only

d) ®E 9Uur gWsliding pairs only

Options :
1.a
2.b

3.¢C
4.d

Question Number : 21 Question Id : 7715134236 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fofifed 4 ¥ fou denae O 4, JuEie B &1 8 YR Bad 5 O

In which of the following numerical method, the trial function itself is considered as the
weighting function

a) fiaidq faff/Galerkin’s method

b) gHdH & fafi/Least squares method

c) fdg dfegm faf¥/Point collocation method

d) JUHid Tfey faf¥/Sub domain collocation method

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134236 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fffed d ¥ fou demee O 4, s o @1 8 4RO Bad A O &7

In which of the following numerical method, the trial function itself is considered as the
weighting function

a) TdidA faf/Galerkin’s method

b) gAqH ¥ faf/Least squares method

¢) fdg dfdarg fafd/Point collocation method

d) SUWid Tig= fdf¥/Sub domain collocation method

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134237 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U@ foxu §d #, $uR “h" U4 ER “b” ¥ Jod By S IC gl A $IC B S0
9 & HfF T W g, A A B H eI oy ¢ "R R IR SR Hided
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A beam has a triangular cross-section, having height “h” and base “b”. If the section is being
subjected to a shear force “F”, the transverse shear stress at the level of neutral axis in the cross
section is given by..........

a) 4F/5bh b) 4F/3bh ¢) 8F/3bh d) 3F/4bh

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134237 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ R0 0o 4, $ai “h"Ud AR “b” T Jad By A I 81 3G $IE Bl ST

90 & A TR0 S g, O R d H FOqd o @ TR W IR T e

- FRRRIR

A beam has a triangular cross-section, having height “h” and base “b”. If the section is being

subjected to a shear force “F”, the transverse shear stress at the level of neutral axis in the cross
section is given by..........

a) 4F/5bh b) 4F/3bh c) 8F/3bh d) 3F/4bh

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134238 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



gfe feu o offtidan wided 40 MPa § f¥® e € a 300 A i w 40 LAl e
T &0 @ &Y B 9@ Al O 9 g1 (CqEiHe & [T 9 9id 70 GPa B
To what radius an aluminium strip 300mm wide and 40mm thick can be bent, if the maximum
stress in the strip is not to exceed 40 MPa. (Young’s modulus for aluminium is 70 GPa)

a)45m b) 52m ¢) 35m d) 65m

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134238 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gfe &y # offtidan wided 40 MPa § 3f¥® e g al 300 A i w 40 LA, Wi
T U @ 59 Oew 9@ Ael o b 5l (R & U 9 A9id 70 GPa B
To what radius an aluminium strip 300mm wide and 40mm thick can be bent, if the maximum
stress in the strip is not to exceed 40 MPa. (Young’s modulus for aluminium is 70 GPa)

a)45m b) 52m ¢) 35m d) 65m

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134239 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Sl e I W o9 @1 wamRa fog fafdme: ...l & Bld §

Beach or clamshell marks on a failed metallic surface are typicalof .............

a) 4 fd¥/Ductile fracture

b) HTR fa/Brittle fracture

¢) fciae HefRUI EXR/Stress corrosion cracking
d) 4ifoeeid fabeH/Fatigue failure

Options :



1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134239 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Beach or clamshell marks on a failed metallic surface are typicalof .............

a) 4 fd¥/Ductile fracture

b) HTR fa/Brittle fracture

¢) fciae HefRUI EXR/Stress corrosion cracking
d) 4ifoeeid fabeH/Fatigue failure

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134240 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ud HOAER, WOH 88 @ 984 § dis foa 9 €1 Ry famed & fou gifoqee wided-
g0 79 B GgaH B

(IR RRID=0.05, W Awr = 025 A.H. W fdy wliqa IE0 d@= 1.5 ©)

A rectangular, stepped bar is to be loaded in bending. Determine the fatigue stress-
concentration factor for the given dimensions.

(Neuber’s constant = 0.05, notch radius =0.25mm, geometric stress concentration factor = 1.5)

a) 1.25 b) 1.45 c) 1.65 d) 1.85

Options :
1.a
2.b
3.C



4.d

Question Number : 25 Question Id : 7715134240 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U$ MOAER, WOH S8 3 984 § dis foa 9 €1 U fomefl & fou gifoqes wiaed-
W50 T P TEH B

(IR RARIF=0.05, @ B = 025 @.W. @ wfdg viosd 950 d@= 1.5 3)

A rectangular, stepped bar is to be loaded in bending. Determine the fatigue stress-
concentration factor for the given dimensions.

(Neuber’s constant = 0.05, notch radius =0.25mm, geometric stress concentration factor = 1.5)

a) 1.25 b) 1.45 c) 1.65 d) 1.85

Options :
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715134241 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fou M o & wER f vadt <8 & fw ofa o & fegeff o g L. H|

Number of points of contra flexure for a double over hanging beam as shown in figure.

a) 1 b)

(B
L]
e
ad

d) 3Hd/Infinite

Options:
1.a
2.b
3.¢
4.d



Question Number : 26 Question Id : 7715134241 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feu 70 fomr & offuR 3 woidl €5 & fou uid e & foged @ dem ... ... 2l

Number of points of contra flexure for a double over hanging beam as shown in figure.

a)l b)

(]
L]
e
Lad

d) 3d/Infinite

Options:
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134242 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 W & & 9ed & & 7 Uad o; W@ oy & M & 91 21 oy = 200MPa

(@) W o, 90T &1 Te & U 9 a6 U Uisd oMl H WG uidaa 240 MPa,

Gl U = 025 5l fiea IHH ol figld & S OR MPa¥ o, @1 AH fid &,

R e &1 30’ IF e

An element of a structure is subjected to two principal stresses o1 and 0. 61 = 200MPa (tensile)

and o, is compressive. The yield stress both in simple tension and compression for the material

is 240 MPa, Poisson’s ratio =0.25; what is the value of o; in MPa as per maximum normal

strain theory at which the yield of material will commence?

a) 240 b) 200 ¢) 180 d) 160

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134242 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



@ W & W@ 9ed &l & JOI Udaa o; W@ oy & UM B I 1 op = 200MPa
(@) W oy Uied g1 Ued & U 9WR a9 U9 Wdied Ml H TRiMd Hidad 240 MPa,
Gl U = 025 5l fiea IHH ol figld & S OR MPa¥ o, @1 AH fid &,
R e &1 30’ IF e

An element of a structure is subjected to two principal stresses o1 and 0. 61 = 200MPa (tensile)
and o, is compressive. The yield stress both in simple tension and compression for the material
is 240 MPa, Poisson’s ratio =0.25; what is the value of o; in MPa as per maximum normal
strain theory at which the yield of material will commence?

a) 240 b) 200 ¢) 180 d) 160

Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134243 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ﬁaﬁf@aﬁﬁaﬁﬁ@wﬁmwwaﬂmﬁmwmﬁwamwww
...... |

A simply supported beam carries a load P as shown in the following figure. The maximum
bending moment in the beam is,

P
12 | 2
]
— >
i gk, B AN B
2 2 2 2 4 2 4

Options:
1.a
2.b
3.¢
4.d



Question Number : 28 Question Id : 7715134243 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ﬁyﬁf@a%ﬁaﬁﬁ@ma@wwwaﬂmﬁmwmﬁm%lmmwww
...... |

A simply supported beam carties a load P as shown in the following figure. The maximum
bending moment in the beam is,

P
12 | @
]
— 4
N NP gt 4 2 gl b
2 2 2 2 4 2 4

Options :
1.a
2.b
3.C
4.d

Question Number : 29 Question Id : 7715134244 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fid fou S1ERe fded el & i o7 ofed ... g

For the Cartesian stress components given below, the principal stresses are....

S
- 0 2
1.2 0
a)4,1,-2 b)4,1,2 c)4,-1,-2 d)-4,-1,-2
Options :
1.a
2.b

3.cC



4.d

Question Number : 29 Question Id : 7715134244 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4 fou @1eReA vided gedl & v qw wfoed ... ... g

For the Cartesian stress components given below, the principal stresses are....

& 3
1 0 2
1 20
a4, l1,-2 b)4,1,2 c)4,-1,-2 d)-4,-1,-2
Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134245 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ud A 067 U84 & e g1 Idg ¥ SUeu Hided “r” 8l SHf¥dan Te Waed ..........
gl

A shaft is subjected to only torsion. The shear stress on the surface is “1”. The maximum
principal stress is

m% b) T o) 0 d) 2t

Options:
1.a
2.b
3.¢
4.d

Question Number : 30 Question Id : 7715134245 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Ud A 067 U84 & e g1 Idg ¥ SUeu Hided “r” 8l SHf¥dan Te Waed ..........
gl

A shaft is subjected to only torsion. The shear stress on the surface is “1”. The maximum
principal stress is

a) b) 1 ¢c) 0 d) 2t

-
=1l -

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134246 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 Uha DY R o7 A o fewmn T 1 ®id A R 81 A td B # &7 @t e
PO 120 W 40 7l e R B, 20UR./MH. o1 7fd & oud & g ¥ qua €, d C @

A single epicyclic gear train is shown in the figure. Wheel A is stationary. The number of teeth
on A and B are 120 and 40 respectively. If Gear B rotates about its own axis with a speed of
20 rev/min, then the speed of C would be ........

a)2 rpm b) 3 rpm c) 4 rpm d) 5 rpm

Options :
1.a
2.b
3.C
4.d



Question Number : 31 Question Id : 7715134246 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 Tod HfEsE R o fa | foam 1 31 &d A RR %1 A W B ¥ &d @t 3=
AT 120 Td 40 71 3 fIR B, 20UR./AH. I M A aw & g H g g, @ &

A single epicyclic gear train is shown in the figure. Wheel A is stationary. The number of teeth
on A and B are 120 and 40 respectively. If Gear B rotates about its own axis with a speed of
20 rev/min, then the speed of C would be ........

a) 2 rpm b) 3 rpm ¢)4 rpm d) 5 rpm

Options :
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134247 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T IR N & U e o PR grd °, A9 @l dis 310, ¢ &d ¢| S,
oy TG g1 R SeiE Gy ... ... ERUARI

In a worm gear drive used for speed reduction application, 4 is lead angle of worm, ¢ is tooth
pressure angle, p is the coefficient of friction. Then, the gear meshing efficiency is given by

_ tanA (cos¢- ptani) By g tanA (cos ¢— ptan i)
cos ¢ tan A+p ! cos ¢ tan A

a)

_ (cos¢p—ptan i) & n tan A

L]
Sty

cos¢gtan A+ B cos ¢ tan A+



Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134247 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ty e T & fou Ted o i gRa 8, A9 @1 i @, ¢ &4 oW B, o
oy Ui g1 ot IR e g L. BN R 2

In a worm gear drive used for speed reduction application, 4 is lead angle of worm, o is tooth
pressure angle, u is the coefficient of friction. Then, the gear meshing efficiency is given by

__tand (cos¢- ptand) _ tanA(cos¢-ptani)

) cos ¢ tan 144 o) 1 = cos ¢ tan A
cos¢p—putand tana

§ peiiesiin]) .
cosgtanA+pu cos¢ tan A+

Options :

1.a

2.b

3.c

4.d

Question Number : 33 Question Id : 7715134248 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ui SHMI SOHM D WU &1 Tha Waadl Biic $ Hfaein qo H JEW sl
o 3, e @ afe L i

If the characteristic roots of the single degree of freedom spring mass damper system have non-
zero imaginary part, the response of the system will be:

) Gleroscillatory b) GlcHe/non-oscillatory
c) RWUsteady d) f¥d 78 f&ar o Tddi/can’t be determined
Options:
1.a

2.b



3.cC
4.d

Question Number : 33 Question Id : 7715134248 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tic DHMT %oOHH HaHed WU &1 Thd Waadl diic & H6eiE 90 ¥ W Hieldd
ym g, o Reem @t o ... Ul

If the characteristic roots of the single degree of freedom spring mass damper system have non-
zero Imaginary part, the response of the system will be:

) Gierloscillatory b) GleHeH/non-oscillatory
c) f@Rlsteady d) ¥ T8 a1 o Thdilcan’t be determined

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134249 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HAABR WS & FW U™ AR Hided fdaRor .. ...... Gl

Transverse Shear stress distribution over rectangular section will be

a) Waaidd/ parabolic b) dauid/elliptical
¢) Payeil/triangular d) GHdl/trapezoidal

Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134249 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



IOAHR WS & FW FUY H0Eq0 Ufded faavor ... ... .. Gl

Transverse Shear stress distribution over rectangular section will be

a) WAqiid/ parabolic b) dauiig/elliptical
c) Fyeil/triangular d) Hdel/trapezoidal

Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134250 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TH HUETU GART B1 ORMIT B xp = X + kX, %0 = Xo, 3= X3 HH, Seik=2A3 Bl

o o - I feuw Wi ... g

Consider a simple shear problem defined by x; = X; + kX3, x = Xz, X3 = X5 where k = 23,

The right Cauchy — Green deformation tensor is

{ £ 1 2 9]
NE 3
a) 2 7 b) |2 5
\,"E 3 0 \,"§ 3 0
0 0 1_ 0 0 1
_ , _ _ ) _
1 7 0 I B 0
c) 15 d |1 4
\,"i 3 0 '.,"§ 3 0
0 0 1 0 0 1
Options:
1.a
2.b
3.¢C
4.d

Question Number : 35 Question Id : 7715134250 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



YA AT G @ ORHET @ x =X+ kX0 0 =Xo. x3= X3 AH, k=213 Bl
el ot - W femwoukm L 8

Consider a simple shear problem defined by x; = X; + kX5, %, = X), 3

X; where k= 213,
The right Cauchy — Green deformation tensor is

2 -

I 2 b { <= B
V3 NE]

a) 217 b) |2 3
\,"E 3 0 ‘\ﬁ 3 0
0 0 1_ 0 0 1
_ 1 - _ y -
1 N 0 It B 0

c) by 1 d |1 4
\,"'i 3 0 \'Ig 3 !
0 0 1 0 0 1

Options :

1.a

2.b

3.C

4.d

Question Number : 36 Question Id : 7715134251 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U WM U o ® 0 We R () @ H L 3eid DI WS §

The acme thread used as lead screw in lathes, has included angle

a) 60° b) 55° ¢) 45° d) 29°

Options:
1.a
2.b
3.¢
4.d

Question Number : 36 Question Id : 7715134251 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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The acme thread used as lead screw in lathes, has included angle

a) 60° b) 55° c) 45° d) 29°

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134252 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

VO gued R | fou uo disd § ofddl Wvd Uag @l Wided HeR H ®HidRd

foan W 82

In which of the material model, the subsequent yield surfaces are translated in the stress spaces,

in an elastoplastic problem?

a) YHaR® HoRTIsotropic hardening b) Y& H3RT/Kinematic hardening
¢) ¥&® @31 /linear hardening d) FG®I/ softening

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134252 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

VA Yued g | foy ver Higd ¥ Sddl WMd Idg @l Ulded S § ®HidRa
foar oI 87

In which of the material model, the subsequent yield surfaces are translated in the stress spaces,
in an elastoplastic problem?

a) GHeR® HBR/Isotropic hardening b) Y&l H3RA/Kinematic hardening
¢) ¥® @3IR/linear hardening d) Hg@U softening

Options:

1.a

2.b

3.¢C



4.d

Question Number : 38 Question Id : 7715134253 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ture uel Ui |, uRerad ud ue & did 1 J00 20% qu UG U4 iR & did @1 quu
4% &) URdm® W@ PR & U fRA g &1 e 11§, df uRdeH @1 9 S
........... gl

In a flat belt drive the slip between the driver and belt is 2% and slip between the belt and the
follower is 4%. The ratio of pulley diameters for the driver and follower is 1:1, then the velocity
ratio-of drive is wovwcic

a) 0.87 b) 0.77 c) 0.94 d) 0.98

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134253 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YUIe UE1 UREH §, IRdcd U4 T8 & did o1 9U0 2% qU1 0 U9 BIEeR & did @1 9uu
4% | URdE® T BlaeR & U R o &1 oua 11§, df uRded @1 9 S
........... gl

In a flat belt drive the slip between the driver and belt is 2% and slip between the belt and the
follower is 4%. The ratio of pulley diameters for the driver and follower is 1:1, then the velocity
ratroof dbive 18 vsumiis

a) 0.87 b) 0.77 ¢) 0.94 d) 0.98

Options:
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134254 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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The rms value of the spectral density plot shown in Figure is

g¥/Hz

E,____ s

1

0 }

| |

00 000 2000 Hz

a) 114 m/s? b) 228 m/s? ¢) 528 m/s? d) 724 m/s?
Options:
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134254 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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The rms value of the spectral density plot shown in Figure is

g¥/Hz

E,____ s

1

0 }

| |

00 000 2000 Hz

a) 114 m/s? b) 228 m/s? ¢) 528 m/s? d) 724 m/s?
Options:
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134255 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

R @it 250 kW o Widd GRU & SRE 1000 IR./BH. W UH Xl § W I9b T @
g g o 30 .. & d e A o o &

What is the pitch line velocity if the pinion has pitch circle diameter of 30 mm and rotates at
1000 rev/min while transmitting power of 250 kW to the gear?

a) 0.5t m/s b) T m/s ¢) L.5mm/s d) 2r m/s

Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134255 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R ot 250 kW & Widd RO & RA 1000 IR./AH. R TH X § W@ I9a UFgd &
g 9 o 30 .. B o fiE e o o &

What is the pitch line velocity if the pinion has pitch circle diameter of 30 mm and rotates at
1000 rev/min while transmitting power of 250 kW to the gear?

a) 0.5t m/s b) T m/s ¢) L.5mm/s d) 2 m/s

Options:
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134256 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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For a spring mass system as shown in the figure 1, the frequency of vibration is N. What will
be the frequency when two more similar springs are added as shown in figure 2.

VN b) 2N V3N d XN

Options :
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715134256 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A 1 H QW U SER HHMI SeRH Fer o U, dud ogit N g1 R 2 feEn U
9N 9§ & R YAH A @ SIS 91 6 A g fea g

For a spring mass system as shown in the figure 1, the frequency of vibration is N. What will
be the frequency when two more similar springs are added as shown in figure 2.

K K

o K K

Fig. 1

m
Fig. 2

) V2N m%w ¢) V3N mgN
Options :
1.a

2.b



3.cC
4.d

Question Number : 42 Question Id : 7715134257 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Gaiae SO H, h, e HieR, ¢ 99 T 9w & did oY o, R AR @i B,
r I o) G, e 99 W IR & deod & 41 Iahsdl ¢l AN 8O o U Sahgdl

In hydrodynamic bearings, h; is film thickness, ¢ is radial clearance between bearing and shaft,
R is radius of bearing, r is radius of shaft, e is the eccentricity between centres of bearing and
shaft. The eccentricity ratio for hydrodynamic bearings is :

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134257 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



gaiqdi §ui |, hy et Hier, o 99 @ 9w & did g e, R §ur @ B,
r R P B, ¢ URT U4 IR & dgd & d9 Ibadl ol S0P GG & U Iahgal
A L.l 8l

In hydrodynamic bearings, hy is film thickness, ¢ is radial clearance between bearing and shaft,
R is radius of bearing, r is radius of shaft, e is the eccentricity between centres of bearing and
shaft. The eccentricity ratio for hydrodynamic bearings is

Options :
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134258 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

& T & SRM, TG TP dW B 50% &b I GAG Td 350 MPa P AHY faHeH
oy cfar &, o gund oiesa ...l S

During tensile test, if a copper bar shows 50% reduction of area and a nominal breaking strength
of 350 MPa, the true stress is.....

a) 425MPa b) 650 MPa ¢) 700 MPa d) 750 MPa

Options :
1.a
2.b
3.c
4.d



Question Number : 43 Question Id : 7715134258 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T WRIGU & GRME, TG T a9 B8 50% &b P AG T 350 MPa P1 AHIG fqveH
el aRiiar 8, o aur uied ...l 2

During tensile test, if a copper bar shows 50% reduction of area and a nominal breaking strength
of 350 MPa, the true stress is.....

a) 425MPa b) 650 MPa c) 700 MPa d) 750 MPa

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134259 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 WA HUIRA €8 ¥ @ YAF 4R, SR Y GAF gl R §, o b 3 F ol

BTl L>2a G2 o ol H o060 §9 T Ay L.............. g

For the simply supported beam with two loads at equal distances from supports as shown in

figure (L >2a), the shear force and moment at middle of the beamare

2)0,F+a b)F.F*@ ¢)F,F+a d)0,0

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134259 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 WA HURd &8 § @ JAF 4R, SR ¥ TOF ghal R @ &, o b fr o oxfa
81U L>2a i 68 o did H Uwu0 g0 Ud el ..., g

For the simply supported beam with two loads at equal distances from supports as shown in
figure (L >2a), the shear force and moment at middle of the beamare

2)0,F+a b)F.F*G) ¢)F,F+a d)0,0

Options:
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134260 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

iR L & U3 ool de (ORIl 3eHH P10 § R AW Sedl EL §) & 0 RR ®
Yoq 59 M §, O U@ WHidd e ... ... &l

The natural frequency of a cantilever beam of length L (of negligible mass & with flexural
rigidity of EI) with a mass M attached on the free end is

1 |2ML3 1 [ML3 1 | 3EI 1 [3EI

a— |[— b)— |— == ==
)21r 3E] }2;1 3EI ]er ML 2m+ ML3

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134260 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

A4 L & U6 bod| 68 (e So0HH T § R Al 2gdl EI §) & Hdd M ®
Yaq 5o M &, d 3@ Wi g ... =il

The natural frequency of a cantilever beam of length L (of negligible mass & with flexural
rigidity of EI) with a mass M attached on the free end is

1 [2ML3 1 [ML2 1 | 3EI 1 [3EI

)= |—

3 g o doy
2m\ 2EI 2m\ 3EI 2wl 2ZML3 27m+ ML3

Options:
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134261 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ <6 0@ e R 20m/s & TH R ¥ T8 3 RO JU0 G0 ¢, F6d < 40 rad/s

U amad G & U Xl §, o @ &1 SIRGiy e L. ..., /s?

A block slides outward on a link at a uniform rate of 20 my/'s, while the link is rotating at a
constant angular velocity of 40 rad/s counter clockwise, the Coriolis component of acceleration
is m/s?

a) 200 b) 400 ¢) 800 d) 1600

Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134261 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



9 €0 0 00 W 20ms & T9F @ ¥ T @ NG JU0 ol §, 94d od 40 rad/s
U amad G & U Xl §, o @ &1 SIRGiy e L. ..., ms? 8

A block slides outward on a link at a uniform rate of 20 m/s, while the link is rotating at a

constant angular velocity of 40 rad/s counter clockwise, the Coriolis component of acceleration
is m/s?

a) 200 b) 400 ¢) 800 d) 1600

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134262 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 UG T # 2 MW, &1 oM W 0.15 3%, &1 a0 P ¢l AEHH 9T L. ...,
g

A harmonic motion has an amplitude of 2 mm and a period of 0.15 sec. The maximum velocity

a) 42 b) 84 ¢) 168 d) 16.8

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134262 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o UG T # 2 LW, @7 MW U 0.15 UF. @ A o gl HdaH a1 .........
g

A harmonic motion has an amplitude of 2 mm and a period of 0.15 sec. The maximum velocity

a) 42 b) 84 ¢) 168 d) 16.8

Options :



1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134263 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

et # f@IT MU YR U I TH@Hl 54 @ 0 AR Ta & A & R g gl
o B F00H ‘m’ W Ui & SN U aR Hadd SeHeR HE @ B v gl @
YId 9 @ H, 99 W@ & ®d § FW-Ad A B FER B, @ 1 dH-w0
.......... & (3fEHET Pl g A

A hydrometer float, shown in Figure, is used to measure the specific gravity of liquids. The
mass of the float is ‘m’, and the radius of the cylindrical section protruding above the surface
is ‘r". The period of vibration when the float is allowed to bob up and down in a fluid of density
‘p’ is........ (Assume damping is negligible)

a) 21 M:;Pg ) 21 BHTM ¢) 21 mfpg d) 21 m?pg
Options :

1.a

2.b

3.c

4.d

Question Number : 48 Question Id : 7715134263 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



ferr # G810 MU 39RO 9 TaHl 54 @ U Ay wa & A @ R g g
& P G0HH ‘m’ W 908 & $R ¥ TR Faded doHeR WF @ B v gl p @
Yid 1 ©@d H, 99 @@ & ®d § FW-Ad B B FAd 5, 9@ B drH-
.......... § (3aHed P F0 HH)

A hydrometer float, shown in Figure, is used to measure the specific gravity of liquids. The
mass of the float is ‘m’, and the radius of the cylindrical section protruding above the surface
is ‘r’. The period of vibration when the float is allowed to bob up and down in a fluid of density
‘p’ is........ (Assume damping is negligible)

m

b) Zm T T
2mripg 2mrpg nripg nripg

a)2m

Options :
1.a
2.b
3.cC
4.d

Question Number : 49 Question Id : 7715134264 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G YHF I G & U6 WIRG defaik €8 @ U, Tas & 9 96 HYY (Nmm H)

@ M(x)=5x2 10x Y X0 1 8, o5l x ¢ & Had R ¥ A0 g8 (mm #) Bl x=

10mm BT g N G 3= $e d HUEY0 g (N H) & IRAW ... g

For a loaded cantilever beam of uniform cross-section, the bending moment (in Nmm) along

the length is M(x) = 5x*+ 10x, where x is the distance (in mm) measured from the free end of
the beam. The magnitude of shear force (in N) in the cross-section at x = 10mm is ---

a) 90 b) 110 c) 180 d) 200

Options :
1.a
2.b
3.c
4.d



Question Number : 49 Question Id : 7715134264 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e TAM IR PIC B Uh HIRG Bl &8 & U, el & 9y g g0 (Nmm H)
@ M(x)=5x2 10x Y G 1 8, o5l x ¢85 & o R ¥ 700 g8 (mm #) Bl x=
10mm BT g W R 3R $e ° HUEQ0 g (N H) @ IRAm L g
For a loaded cantilever beam of uniform cross-section, the bending moment (in Nmm) along
the length is M(x) = 5x%+ 10x, where x is the distance (in mm) measured from the free end of
the beam. The magnitude of shear force (in N) in the cross-section at x = 10mm is ---

a)90 b) 110 c) 180 d) 200

Options:
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134265 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

15 R o # BN BER @1 HR WTd 35% 31 PR W AR @& Td H
3.5 gm/ml W 1.3gm/ml g1 ™Y &1 69d ............ gm/ml |

The “E-glass’ fibers in a polyester resin is 35% by weight. Density of fiber and matrix are 3.5
gm/ml and 1.3gm/ml respectively. The density of the composite is........ gm/ml?

a) 13 b) 1.67 ¢) 175 d) 1.9

Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134265 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



15 R o # BN BER @1 HR WTd 35% 31 PR W AR @& Td H
3.5 gm/ml W 1.3gm/ml g1 ™Y &1 69d ............ gm/ml |

The “E-glass’ fibers in a polyester resin is 35% by weight. Density of fiber and matrix are 3.5
gm/ml and 1.3gm/ml respectively. The density of the composite is........ gm/ml?

a) 13 b) 1.67 ¢) 175 d) 1.9

Options :
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715134266 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G D G R R e R AdE ......... U

If sound pressure is doubled, the increase in sound pressure levelis .........

a) 3dB b) 6 dB c)2dB d) 10dB

Options :
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134266 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G G R Ra g TRATE ......... il

If sound pressure is doubled, the increase in sound pressure levelis .........

a) 3dB b) 6 dB ¢)2dB d) 10 dB



Options :
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134267 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

| f&.9. & U@ SOAF B 900 N/m &I GIRIal & 9 BHAN & B8R H Yau fbar T gl

Pildd HGHe i &I TH B

A mass of | kg is attached to the end of a spring with a stiffness of 900 N/m. Determine the

critical damping coefficient.

a) 15 Ns/m b) 30 Ns/m ¢) 60 Ns/m d) 75 Ns/m

Options:
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134267 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

| .9, & U@ SOAF B 900 N/m &I GHRIal & Y BHAN & SR H Yau fbar T gl

Pildd HFHGT oD I AT Bl

A mass of 1 kg is attached to the end of a spring with a stiffness of 900 N/m. Determine the

critical damping coefficient.

a) 15 Ns/m b) 30 Ns/m ¢) 60 Ns/m d) 75 Ns/m

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134268 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U6 Gd DA 150mm & H¥Had U § 200N @41 S0mm & FAqH fd&u0 § 40N |
A (B 8

A linear spring is to give 200N at its maximum deflection of 1 50mm and 40N at its minimum
deflection of 50mm. What is its spring rate?

a) 1.2 N/mm b) 1.6 N/'mm ¢) 2.4 N/mm d) 3 N/mm

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134268 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 6d DA 150mm & Head fdeuor § 200N @1 S0mm & JAqH fdauo § 40N
A W B 8

A linear spring is to give 200N at its maximum deflection of 1 50mm and 40N at its minimum
deflection of 50mm. What is its spring rate?

a) 1.2 N/mm b) 1.6 N/'mm ¢) 2.4 N/mm d) 3 N/mm

Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134269 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T feu gy (fdow) & fou w@daa ol &1 g @l

Find the degrees of freedom for the linkage shown below.

J}f’/}" FTIF

a)0 b) 1 )2 d) 3

Options:
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134269 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T fou gy (fdow) & fou @I ol &1 g @l

Find the degrees of freedom for the linkage shown below.

J}f’/}" FTIF

a)0 b) 1 )2 d) 3

Options:
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134270 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e U R B ¢ & W 5 1 2 A B @ @ s 2 W few (@m )
b Bad B g O WA ........ §

A disc of radius r has a hole of radius 1/2 cut-out as shown. The centroid of the remaining disc
(shaded portion) at a radial distance from the center “0” is

a)r/2 b) 13 c) 1/6 d) /8

Options :
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715134270 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feam MU SR Bl r @ W 5w | 12w B @ e 9% B I few (e )
& hsd @ dg TGl ... ... 8

A disc of radius r has a hole of radius r/2 cut-out as shown. The centroid of the remaining disc
(shaded portion) at a radial distance from the center “0” is

a)12 b)r/3 c) /6 d) /8

Options :
1.a



2.b
3.¢C
4.d

Question Number : 56 Question Id : 7715134271 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

J-Gd, itde Hidea diad dd Ky T @l 3u )’ d &y dl............ & U v
G RG]
The relationship between J-integral, critical stress intensity factor K, and Poisson’s ratio ‘pt’
can be written as
) =1 ] =5 (1)
E # 3E #

K;c* 2K;
o)== (1-2") d J==5(1-2%)
Options :
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134271 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

J-GATHT, hifad Fioaa didd dd Kic 06 W Uy’ $ 864 @l . ........... & w0 forn
RG]
The relationship between J-integral, critical stress intensity factor Kic, and Poisson’s ratio ‘i’
can be written as
) J=5 0 9 =2 (1)
E ; 3F H

K;* 2Kt
o)== (1-2) d J == (-2
Options :
1.a
2.b
3.c

4.d



Question Number : 57 Question Id : 7715134272 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e Rufd & IR < sy & fou, gt M @ AE ... B

For a four-bar linkage in Toggle position, the value of mechanical advantage is . ... ..

a) 0.0 b) 0.5 c) 1.0 d) 3d/Infinity

Options :
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134272 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e Rufd & IR < sy & fou, gifeE M & AE ... g

For a four-bar linkage in Toggle position, the value of mechanical advantage is . ... ..

a) 0.0 b) 0.5 c) 1.0 d) 3d/Infinity

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134273 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Terd &1 UHHeha WIvG Uided 300 MPa 1 B U AIUES & AR, TeM @1 Uy
R Wfddd (MPa ®) ............ g

The uniaxial yield stress of a material is 300 MPa. According to Von mises criterion, the shear
yield stress (in MPa) of the materialis ............

a) 123 b) 150 ¢) 173 d) 192

Options :
1.a
2.b



3.cC
4.d

Question Number : 58 Question Id : 7715134273 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ter &1 UdHela WG Hiaed 300 MPa gl WM o HIUGS & HER, UM @1 e
WHd ufddd (MPa ®) ............ g

The uniaxial yield stress of a material is 300 MPa. According to Von mises criterion, the shear
yield stress (in MPa) of the materialis ............

a) 123 b) 150 ¢) 173 d) 192

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134274 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

w ] Al Tk @ oioRe T & i 1 oide g B 99 TWd §U G @i @
ﬁwﬁm;&mqﬁ%aﬁm%wwé,aﬁuﬁ%ﬂu 8y ided o wfoed uiada
......... |

A thin-walled spherical shell is subjected to an internal pressure. If the radius of the shell is
increased by 10 % and the thickness is reduced by 10 %, with the internal pressure remaining
the same, the percentage change in the circumferential (hoop) stressis .........

a) 3 b) 11 ¢) 22 d) 25

Options:
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134274 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



P 7 R Ticie @i ofiiRe T & o 1 eide o @ 9HH TWd §U ik @i o
ﬁwﬁlo?wqﬁmﬁaﬁw%wwé,aﬁﬁw (80) Widea # wiawd uRada
......... |

A thin-walled spherical shell is subjected to an internal pressure. If the radius of the shell is
increased by 10 % and the thickness is reduced by 10 %, with the internal pressure remaining
the same, the percentage change in the circumferential (hoop) stress is ..........

a)s b) 11 c)22 d) 25

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134275 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U @1 G YAl Uie Todl O ¥ g &l Uar BT @Rl U ... ... g
The bulk modulus of a material is twice its modulus of rigidity. The Poisson’s ratio of the
material 38 .o ivoun

a) 1/7 b) 2/7 ¢)3/7 d) 4/7

Options:
1.a
2.b
3.¢
4.d

Question Number : 60 Question Id : 7715134275 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U @1 e YAl Uie Todl O 4 g &l Uar BT @Rl U ... ... g
The bulk modulus of a material is twice its modulus of rigidity. The Poisson’s ratio of the
material i8 oo

a) 1/7 b) 2/7 ¢)3/7 d) 4/7

Options :
1.a
2.b



3.cC
4.d

Aptitude Test

PartI

Question Number : 61 Question Id : 7715134276 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



DH-T DR, DY Bl [ @ 82
Which figure completes the statement?

ED
@ is to
@ (%) b C)
8 @ 0

Options :

1.a
2.b
3.¢C
4.d

Question Number : 61 Question Id : 7715134276 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



DH-T DR, DY Bl [ @ 82
Which figure completes the statement?

ED
@ is to
@ (%) b C)
8 @ 0

Options :

1.a
2.b
3.¢C
4.d

Question Number : 62 Question Id : 7715134277 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



B9 @ 99 WMed® H0 § U WIrR & ©0 ¥ ERd § aUl o0 0 R W e &
G 35 ¢l P W I HH & Ugd i S oWl fF Sb U Tgolidl & due yuif
3felld €, Walh JUBT SR SfEKdd ol fHU1 T 1 I HiakhaT R g AIRL?

Trish is working as a computer programmer at a large software company and has returned to her position
after maternity leave. On her first day back at work, she noticed all her colleagues had updated computer
systems, but her system had not been upgraded. What approach should she take?

(a) ¥ Wded Y U@ b 7 a8 I bl ¥ 919 B Iadl & adl Ry ¥ @ @
TP YR A S T fHa TR
Ask her supervisor if she can speak with them in private and politely ask why her system was not
upgraded.

(b) Yo B 360 & oRA HH Wdew 8 Fu B F A I qwa G 9 @ g

Confront her supervisor during the morning meeting and ask why she is being disrespected.

(¢ o fod eodl @1 o W d

Take an upgraded system from one of her coworkers.

(d) AFg T foum ¥ Rioma BEa o)

File a complaint with the Human Resources Department.

Options:
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134277 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



B9 @ 99 WMed® H0 § U WIrR & ©0 ¥ ERd § aUl o0 0 R W e &
G 35 ¢l P W I HH & Ugd i S oWl fF Sb U Tgolidl & due yuif
3felld €, Walh JUBT SR SfEKdd ol fHU1 T 1 I HiakhaT R g AIRL?

Trish is working as a computer programmer at a large software company and has returned to her position
after maternity leave. On her first day back at work, she noticed all her colleagues had updated computer
systems, but her system had not been upgraded. What approach should she take?

(a) ¥ Wded Y U@ b 7 a8 I bl ¥ 919 B Iadl & adl Ry ¥ @ @
TP YR A S T fHa TR
Ask her supervisor if she can speak with them in private and politely ask why her system was not
upgraded.

(b) Yo B 360 & oRA HH Wdew 8 Fu B F A I qwa G 9 @ g

Confront her supervisor during the morning meeting and ask why she is being disrespected.

(¢ o fod eodl @1 o W d

Take an upgraded system from one of her coworkers.

(d) AFg T foum ¥ Rioma BEa o)

File a complaint with the Human Resources Department.

Options:
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134278 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e, doHE @ U dt B ol U RS L. ¥ fo R

A thermometer is to temperature as a compassisto ........

(a) <ldl/Pressure
(b) 3T/ Humidity
() fa=/Direction
(d) G5/Needle

Options :
1.a
2.b
3.c



4.d

Question Number : 63 Question Id : 7715134278 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e, doHE @ U dl g ol U e L. ¥ fow &

A thermometer is to temperature as a compass is to

(a) <ldl/Pressure
(b) ST/ Humidity
() fa=/Direction
(d) G5/Needle

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134279 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



¥ o ¥ Yeu ot fafmim ar 2wy # YW & el @ @ 3 10 v 9 &
e e TUl HH-Yed YR B Sligd R 4 39 o ¥ W v H WUl i,
S v e ot ffwio o @ @ 2 swiw e, o W R, @ FekRe
g Fee FU o1 T W @

The cost of producing radios in Country Q is ten percent less than the cost of producing radios in
Country Y. Even after transportation fees and tariff charges are added, it is still cheaper for a company to
import radios from Country Q to Country Y than to produce radios in Country Y. The statements above, if

true, best support which of the following assertions?

(@) &% q ¥ Horgdl A <9 v Y ¥ Wowd B9 gl

Labor costs in Country Q are ten percent below those in Country Y.

b) %1 Q¥ @y F T P o, <y F FA & & S Al B

Ui ASRIad Bl
Importing radios from Country Q to Country Y will eliminate ten percent of the manufacturing jobs
in Country Y.
© @ q Wy AW 3 o[ R G0-gep, ¥ v § A 91 fakmiu
@ ¥ 59 yowd 9

The tariff on a radio imported from Country Q to Country Y is less than ten percent of the cost of
manufacturing the radio in Country Y.

) 3 q 8@y § A P uRagT U gep, 4% o F AW & M A @
% T 9 39 v Sl 7

The fee for transporting a radio from Country Q to Country Y is more than ten percent of the cost
of manufacturing the radio in Country Q.

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134279 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



¥ o ¥ Yeu ot fafmim ar 2wy # YW & el @ @ 3 10 v 9 &
e e TUl HH-Yed YR B Sligd R 4 39 o ¥ W v H WUl i,
S v e ot ffwio o @ @ 2 swiw e, o W R, @ FekRe
g Fee FU o1 T W @

The cost of producing radios in Country Q is ten percent less than the cost of producing radios in
Country Y. Even after transportation fees and tariff charges are added, it is still cheaper for a company to
import radios from Country Q to Country Y than to produce radios in Country Y. The statements above, if

true, best support which of the following assertions?

(@) &% q ¥ Horgdl A <9 v Y ¥ Wowd B9 gl

Labor costs in Country Q are ten percent below those in Country Y.

b) %1 Q¥ @y F T P o, <y F FA & & S Al B

Ui ASRIad Bl
Importing radios from Country Q to Country Y will eliminate ten percent of the manufacturing jobs
in Country Y.
© @ q Wy AW 3 o[ R G0-gep, ¥ v § A 91 fakmiu
@ ¥ 59 yowd 9

The tariff on a radio imported from Country Q to Country Y is less than ten percent of the cost of
manufacturing the radio in Country Y.

) 3 q 8@y § A P uRagT U gep, 4% o F AW & M A @
% T 9 39 v Sl 7

The fee for transporting a radio from Country Q to Country Y is more than ten percent of the cost
of manufacturing the radio in Country Q.

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134280 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



3 T T weud & R 1 B €1 A @ it fhumly & an A W @ o sruel

four § & orf wibn 4 QR gFMI o0 fGuF & $9 dHAN URddH U TgHd § IR $9

Tl UG UD BHAR, FeTd U oud faR &t afciiadl Bl g1 U FT DI

You are a department manager and you have recently thought of a new procedure that you helieve would
improve the work process. Some of the employees in your department agree with the change and some do

not. One of your employees openly criticises the idea to your director. What would you do?

(a) 30 MU W & & ooved Yo Y e &g U AGED! B 99 el ol
You decide not to respond to the critics in order to avoid unnecessary conflict.

(b) M0 FHIR B MW W, FRIE & TW TH & U S U AR AR B @ & &
o &R ot SaE ¥ o1 o3|

You reprimand the employee for going over your head to the director and work to promote your

idea with even more enthusiasm

() U THIN & WY & A & [0 e aul WY B4 6 A TReR @1 SuE
s gl
You meet the employee for a talk and explain that bypassing your authority is unacceptable.

(d) DHIN @1 3 WEYE F FW W Hedqd © R FHRIC MU Fig A § b o 9w
g uRadH! @1 omd B dfe FHIR UgE B

Employees' trust in their manager is important so you decide to implement only some of the
changes to keep employees satisfied.

Options :
1.a
2.b
3.cC
4.d

Question Number : 65 Question Id : 7715134280 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



3 T T weud & R 1 B €1 A @ it fhumly & an A W @ o sruel

four § & orf wibn 4 QR gFMI o0 fGuF & $9 dHAN URddH U TgHd § IR $9
Tl UG UD BHAR, FeTd U oud faR &t afciiadl Bl g1 U FT DI

You are a department manager and you have recently thought of a new procedure that you helieve would
improve the work process. Some of the employees in your department agree with the change and some do

not. One of your employees openly criticises the idea to your director. What would you do?

(a) 30 MU W & & ooved Yo Y e &g U AGED! B 99 el ol
You decide not to respond to the critics in order to avoid unnecessary conflict.

(b) M0 FHIR B MW W, FRIE & TW TH & U S U AR AR B @ & &
o &R ot SaE ¥ o1 o3|

You reprimand the employee for going over your head to the director and work to promote your
idea with even more enthusiasm

() U THIN & WY & A & [0 e aul WY B4 6 A TReR @1 SuE
e 3l

You meet the employee for a talk and explain that bypassing your authority is unacceptable.

(d) DHIN @1 3 WEYE F FW W Hedqd © R FHRIC MU Fig A § b o 9w
g uRadH! @1 omd B dfe FHIR UgE B

Employees' trust in their manager is important so you decide to implement only some of the
changes to keep employees satisfied.

Options :
1.a
2.b
3.cC
4.d

Question Number : 66 Question Id : 7715134281 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Embarrassed, humiliated & ﬁ'ﬂ! ar %, i} frightened . .. ... 67 ﬁl@ %I

Embarrassed is to humiliated as frightened isto ... ...

(a) Terrified
(b) Agitated
(c) Courageous
(d) Reckless
Options:
1.a
2.b
3.c

4.d



Question Number : 66 Question Id : 7715134281 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Embarrassed, humiliated & ﬁ'ﬂ! af %, K| frightened . ..... & ﬁJIT{ %I

Embarrassed is to humiliated as frightened isto ... ...

(a) Terrified
(b) Agitated
(c) Courageous
(d) Reckless

Options :

1.a

2.b

3.C

4.d

Question Number : 67 Question Id : 7715134282 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Uy g & Fofafga § 9 o ufdrifig some

Which one will replace the question mark?

(@) Lo
(b) Kis
(c) lis
(d) Ks
Options :
1.a

2.b

3.c
4.d

Question Number : 67 Question Id : 7715134282 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0
Uy fug @l Fofefed # 4 oF ufdwiitd s

Which one will replace the question mark?

(a) Lo
(b) Kis
(c) lis
(d) K
Options :
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715134283 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

feu o fom & oiftsd i A fow o & ooft o &

Which direction gear labelled A rotates?

]

(a) 'a?;‘l ﬂﬂﬁf & I @I fG3 H/Clockwise

(h) ‘Eﬁnpl ﬂﬂﬁf & 9o @1 AW &2 T/ Counter-clockwise
(c) ‘Iﬂh el &t/ No rotation

(d) A ¥ T8 JR T §B/Neither A nor B

Options :



1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134283 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fu 0 o o Sifd R A 9 foan & ot & &

Which direction gear labelled A rotates?

]

(a) "Epl ﬁ?ﬂ q0 @1 G- H/ Clockwise
(b) TS @l ﬁﬂﬁf a1 fJRid &2 J/Counter-clockwise
(c) ‘{[Uf:l T8l Y/ No rotation
(d) A ¥ T8 IR T g B/Neither A nor B
Options:
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134284 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



FH-3H U TRU 7S @) G & 9 @ A R A 9w @

Which wheels are turning counter-clockwise?

Direction of movemenl of wire

(c) AB,D,F
(d) THi/Al

Options:
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134284 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

FH-31 U TRU 99 @) W & 9 @ A R A 9w @

Which wheels are turning counter-clockwise?

Direction of movemenl of wire

(c) AB,D,F
(d) THi/Al

Options :
1.a
2.b
3.c



4.d

Question Number : 70 Question Id : 7715134285 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

6,11, 21, 36, 56, - @I J@al O 3FTC &1 1 &1 dIfieU?

Which number should come next in the series 6, 11, 21, 36, 56, --

(a) 91
(b) 21
(c) 52
(d) 81

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134285 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

6,11, 21, 36, 56, - DI J@cl § SFTc @A &1 BT dligU?

Which number should come next in the series 6, 11, 21, 36, 56, --

(a) 91
(b) 21
(c) 52
(d) 81

Options:
1.a
2.b
3.c
4.d



Part II

Question Number : 71 Question Id : 7715134286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325325, Ud @:-3dW W 31 U5 .... 9w ¢
325325 is a six-digit number. It is divisible by . . ..

a) ®ad 7 9/7 only
(b) @ad 13 /13 only
(c) @ad 11 T/11only

(d) 7, 11 9ur 13, 9t /A7, 11and 13

Options :
1.a
2.b
3.C
4.d

Question Number : 71 Question Id : 7715134286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325325, Ud @:-3dW W 31 U5 .... 9w ¢
325325 is a six-digit number. It is divisible by . . ..

a) ®ad 7 9/7 only
(b) @ad 13 ¥/13only
(c) &ad 11 U/11only

(d) 7, 11 @9 12, G ¥/AN7, 11and 13



Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134287 Question Type
Correct Marks : 2 Wrong Marks : 0

®Y-/Statements:

S DI DofH Eﬁ %E;’Sﬂme papers are pens
DIV BITG &/Angle is a paper.
fmht/ Conclusions:
(i) B0, B el a/Angle is not a pen.
(i) DI HAH &/Angle is a pen

(a) @ad MSHY (i) Wel ©/Only conclusion (i) follows
(b) @ad =AY (i) Tal &/Only conclusion (ii) follows
(c) (i) 41 (i), el %z’Either (i) or (ii) follows

(d) (i) AT (i), GHI Fel Tal &/Neither (i) nor (ii) follows

Options :
1.a
2.b
3.cC
4.d

Question Number : 72 Question Id : 7715134287 Question Type :

Correct Marks : 2 Wrong Marks : 0

: MCQ Option Shuffling : No

MCQ Option Shuffling : No



DY/ Statements:

I DI PofH Eﬁ %‘;’Some papers are pens
HIU BT &/Angle is a paper.
=/ conclusions:
(i) ®IU, ®aH T8l &/Angle is not a pen.
(ii) DI Had %fﬂmgle is a pen

(a) Had ey (i) el %I'Dnly conclusion (i) follows
(b) Haq ey (i) gl %fﬂnlv conclusion (ii) follows
(c) (i) T (ii), WRI &/Either (i) or (i) follows

(d) () 30 (i), T WL T &/ Neither (i) nor (ii) follows

Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T T q@ dlibd R DH-UT g2

What is the missing logical image in the sequence?

26 Ve | o | €V [ pes|Ire

v 2 d b v =
(a) T{—z»b
(b) —>i~lr
(« ina»
o [T
Options :
1.a

2.b



3.cC
4.d

Question Number : 73 Question Id : 7715134288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30 1 @ dfve i aH-11 &

What is the missing logical image in the sequence?

M Ve | 9 | €V 1es e
Vs s

TR

© \bg—}

@ 7T
Options:
1.a

2.b

3.c

4.d

Question Number : 74 Question Id : 7715134289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬂﬁ@ﬂﬁﬂﬁﬁmwtﬂa‘topinus’ WWW%

Choose one of the following options that means the opposite of the given word; Copious:

(a) Reverse (b) Scarce (c) Abundant (d) Short

Options :
1.a
2.b
3.c
4.d



Question Number : 74 Question Id : 7715134289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁmwﬁﬁmwm‘topious’ WWW%H

Choose one of the following options that means the opposite of the given word; Copious:

(a) Reverse (b) Scarce (c) Abundant (d) Short

Options :
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EMBEZZLE Yk B! HaY 3fwy (b ¥ e He-aiel st T

Choose the word which best expresses the meaning of the word EMBEZZLE

(a) Misappropriate (b) Balance (c) Remunerate (d) Clear

Options :
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EMBEZZLE Vg @I G 3w Nid ¥ T HIaiel Usg JHT:

Choose the word which best expresses the meaning of the word EMBEZZLE

(a) Misappropriate (b) Balance (c) Remunerate (d) Clear

Options:
1.a
2.b
3.¢



4.d

Descriptive

Descriptive

Question Number : 76 Question Id : 7715134291 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



a. fe-oiin wru # 90 wodl & fou fiedH smEww vived figid W@ smmaen
HIEY Yideq figid @1 aud &)
Describe maximum shear stress theory and octahedral shear stress theory for ductile
materials in biaxial loading?

b. T IR &I g Wiol g0 & HH Tl I gl e § ooha dfmdd meu
Hided 100MPa g1 a4 # 6 U $1 WHI T4 T THY HA: 300 MPa d
450 MPa g fUdan foeun Sl Rigid &1 Sw &, WHE & U R e
o1 URoad $Y
A shaft is subjected to pure torsional moment. The maximum shear stress developed in
the shaft is 100MPa. The yield and ultimate strengths of the shaft material in tension
are 300 MPa and 450 MPa respectively. Calculate the factor of safety for yielding, using
maximum distortion energy theory?

c. W B¢ dd 9 @I Hiad e, 200 MPaUd 100 MPa & @ T URedl & Ty
viogd & f3-oefe Rfd H 31 O} wgw ued 350MPa © WiMa WY € U
T By 8, o ofidan fdenu gul g & SleR W Q&1 dRe @I
uRaa B
A small element at the critical section of a component is in biaxial state of stress with
the two principal stresses being 200 MPa and 100 MPa. Calculate the factor of safety
based on maximum distortion energy theory, if the material used is aluminium alloy
having a yield strength of 350MPa?

Question Number : 76 Question Id : 7715134291 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



a. fe-oiin wru # 90 wodl & fou fiedH smEww vived figid W@ smmaen
HIEY Yideq figid @1 aud &)
Describe maximum shear stress theory and octahedral shear stress theory for ductile
materials in biaxial loading?

b. T IR &I g Wiol g0 & HH Tl I gl e § ooha dfmdd meu
Hided 100MPa g1 a4 # 6 U $1 WHI T4 T THY HA: 300 MPa d
450 MPa g fUdan foeun Sl Rigid &1 Sw &, WHE & U R e
o1 URoad $Y
A shaft is subjected to pure torsional moment. The maximum shear stress developed in
the shaft is 100MPa. The yield and ultimate strengths of the shaft material in tension
are 300 MPa and 450 MPa respectively. Calculate the factor of safety for yielding, using
maximum distortion energy theory?

c. W B¢ dd 9 @I Hiad e, 200 MPaUd 100 MPa & @ T URedl & Ty
viogd & f3-oefe Rfd H 31 O} wgw ued 350MPa © WiMa WY € U
T By 8, o ofidan fdenu gul g & SleR W Q&1 dRe @I
UR@T B

A small element at the critical section of a component is in biaxial state of stress with
the two principal stresses being 200 MPa and 100 MPa. Calculate the factor of safety
based on maximum distortion energy theory, if the material used is aluminium alloy
having a yield strength of 350MPa?

Question Number : 77 Question Id : 7715134292 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

a. ORMAR 3@ud (Y 9§ LST U3 CST 3(a9al &1 3R Faid|

Differentiate between LST and CST elements in finite element method?

b. 39U YHid® 949 U4 3ifd UEl® 3499d @ duiH &l

Explain sub parametric and super parametric element?

c. URMAMA gud fazonu 4 U9 gdigu &1 g &4

Describe patch test in finite elements analysis?

d. FEM ¥ =nfiq fafdy yeR & ey ufeao 3f fod|

Write various types of mesh refinement methods in FEM?

Question Number : 77 Question Id : 7715134292 Question Type : SUBJECTIVE Consider As



Subjective : Yes
Correct Marks : 5

a. URMT 3fqud faf § LST U9 CST 3@qdl &1 3R &dil|

Differentiate between LST and CST elements in finite element method?

b. 39U YHid® 949 U4 3ifd UEl® 3499d @ duiH &l

Explain sub parametric and super parametric element?

c. URMAMA gud fazonu 4 U9 gdigu &1 g &4

Describe patch test in finite elements analysis?

d. FEM ¥ =nfiq fafdy yeR & ey ufeao 3f fod|

Write various types of mesh refinement methods in FEM?

Question Number : 78 Question Id : 7715134293 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

2. K590 0% $19U B3 U4 fofis We vafl @ vgaH &

Explain Stribeck curve and identify different lubrication regimes

b. i T o & orER, A T O & WY T A TG W FOAH o i m Gl P g @
e foran e &1 0T 7o 1 1 9T 1 < tan 6 8 T S T W 3 fiig Q 9@ g 84
1 GRT oY MU IH0 BT UNGE 3, el uTdfFddud PQ=-S3l
A block of mass m 1s released from point P on a rough inclined plane with inclination
angle 0, shown in the figure below. The coefficient of friction is . If 1 < fan 6, then
calculate the time taken by the block to reach another point Q on the inclined plane,
where PQ = -S, in terms of j1 and 6?

Question Number : 78 Question Id : 7715134293 Question Type : SUBJECTIVE Consider As



Subjective : Yes
Correct Marks : 5

2. K590 0% $1 90 B3 U4 fafirs We vafl @ vgaH @

Explain Stribeck curve and identify different lubrication regimes

b. i T o & orER, A T O & WY T A TG W FOAH o i m Gl P g @
e foran e &1 0T 7o 1 1 9T 1 < tan 6 8 T S T W 3 fiig Q 9@ g 84
1 GRT oY MU IH0 BT UNGE 3, el uTdfFddud PQ=-S3l
A block of mass m 1s released from point P on a rough inclined plane with inclination
angle 0, shown in the figure below. The coefficient of friction is . If 1 < fan 6, then
calculate the time taken by the block to reach another point Q on the inclined plane,
where PQ = -S, in terms of j1 and 6?

Question Number : 79 Question Id : 7715134294 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



a. Tif® yoneht ¥ fifdy v6R & @ded dH-¥

What are the different types of damping in a mechanical system?

b. U T fm & UR, SUNH ‘m’ & 5% B IRl kb HEA & Y Yaw o
T 3| YHERT Udg R R fd {5 dledr gon oral &1 fed & o @) Wvifdd
g & fon oivd W &4
A disc of mass ‘m’ is attached fo a spring of stiffness ‘k’ as shown in the figure. The
disc rolls without slipping on a horizontal surface. Derive expression for the natural
frequency of vibration of the system?

NN

Question Number : 79 Question Id : 7715134294 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

a. TG® YU ¥ ffdy Y9R & 3a¥ed IH-¥ o

What are the different types of damping in a mechanical system?

b. feT 0 A & FER, TOHH ‘m’ & 3% @ TEdl k' & FHA & Y Yow fod
T 31 YRR U R R 6 5w diear gon o 31 Ren & o0 @1 wifds
aft & fou ofod wa B
A disc of mass ‘m’ is attached to a spring of stiffness ‘k’ as shown in the figure. The
disc rolls without slipping on a horizontal surface. Derive expression for the natural
frequency of vibration of the system?

NN




Question Number : 80 Question Id : 7715134295 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

a. Tied UUd 9OReT & Ly @ T4 719 @ & a9 &1 3R aanl

Differentiate between Ly life and median life of a rolling contact bearing?

b. T BT Judb SR & IR fawed fawnsl & Qe &)

List four modes of failures of an angular contact bearing?

c. SKF 62103y Uuo sic <ufen ¥ 9 de =5 3@ gU 1400 N &1 &g &d ud

2800 N 31T q T 81 YR Vfdd HR 3Hdi®d Co, 20000N § Td 3R HR
3FHdi® C10, 35000N g1 1000 UR./M. @1 U § Lyg o &1 fded d (gH
7@ B V=1,X=0.5,Y=15 AH)
An SKF 6210 angular-contact ball bearing has an axial load F, of 1400 N and a radial
load F;0f 2800 N applied with the outer ring stationary. The basic static load rating Cg
1520000 N and the basic load rating Cyp is 35000 N. Estimate the Lyp life at a speed of
1000 rev/min. (Take rotation factor, V=1, X=0.5, Y= L.5)

Question Number : 80 Question Id : 7715134295 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

a. Tied UUG 9ORT & Lyg 3@ T4 A19 @ & a9 & 3R il

Differentiate between Ly life and median life of a rolling contact bearing?

b. T BN Yo AR & IR faGeH faunsl &1 G B

List four modes of failures of an angular contact bearing?

¢. SKF 6210 @101 UUs sict 99T ¥ o1 9o RIS Wd §U 1400 N &1 3l 99 U@

2800 N @ 3T q9 T 8l MR Wfdd YR 3HHdI® Co, 20000N § T HER ¥R
3FHdi® €10, 35000N gl 1000 UR./M. @I U T Lig 3G &1 Aded d (gH
d@ B V=1,X=0.5,Y=15 AH)
An SKF 6210 angular-contact ball bearing has an axial load F, of 1400 N and a radial
load F;0f 2800 N applied with the outer ring stationary. The basic static load rating Co
i5 20000 N and the basic load rating Cyg is 35000 N. Estimate the Lyp life at a speed of
1000 rev/min. (Take rotation factor, V=1, X=0.5, Y= L.5)





